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DU MPhil Phd in Philosophy

Topic:- DU_J19_MPHIL_PHIL

1) Which of the following theory focused upon the moral significance of individuals’ capability of achieving the kind of lives they have reason to value?

frrafafaa # 19 a1 Rigia afeal g sies F 38 UoR), e ufa ST ThiTTd T 81, $1 T $31 3t aRgal & Afae Hewa W Higd & ?
[Question ID = 12481]

1. Rawls’ liberal theory of Justice / I BT O B Rigid [Option ID = 19921]

2. 3. S. Mill's Utilitarianism / Tl &1 Suiifiamare [Option ID = 19922]

3. Kant's theory of moral maxim / @i & Afde AR &1 Rigid [Option ID = 19924]
4. Amartya Sen’s Capability theory / 3/ I BT agaT R¥gid [Option ID = 19923]

Correct Answer :-
« Rawils’ liberal theory of Justice / g &1 U o1 gl [Option ID = 19921]

2) Which darsana supports the view that particulars are known exclusively by perception and universals exclusively by inference:

P ¥ = 3 VI &1 THAT PR § [P Ul gRT Fad AR SET ST 8 3% U gRT Had Qrd i ST ST @:
[Question ID = 12515]

1. Buddhism / s <=9 [Option ID = 20057]

2. Nyaya / =9/ [Option ID = 20058]
3. Vaiéesika / IR [Option ID = 20059]
~ 8 N C .
4. None of the above / SURTad H I GAE] :1%1 [Option ID = 20060]

Correct Answer :-

« Buddhism / stg 3= [Option ID = 20057]

3) Shanti parva of Mahabharata Deals with:
wrifa ud f=R #5318 [Question ID = 12503]

1. Duties of a King / ST BT HXA [Option ID = 20011]

2. Duties of Elder Brother / i HTg T $xiod [Option ID = 20009]
3. All the above / IRIad oft [Option ID = 20012]

4. Duties of a Husband /tlﬁf?ﬂ Pl [Option ID = 20010]

Correct Answer :-
« Duties of Elder Brother / ¥ HTS &1 Pxicd [Option ID = 20009]

4) Kant argued that the ontological argument was invalid because

Pid A 7 feur f sficaiomea ab ema € TP [Question ID = 12504]
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1. God may not exist / T HIIG -Ta] & Tebdl & [Option ID = 20016]

2. God does not exist / *ATdH NG &1 § [Option ID = 20013]

3. Existence is a predicate / &@awﬁﬁq% [Option ID = 20014]

4. Existence is not a predicate / 3if&Ta Us fad g ® [Option ID = 20015]

Correct Answer :-
« God does not exist / HTa HIS[E -T&! & [Option ID = 20013]

5) That power is not simply repressive but is productive is argued by

N Fad FATPRI T8 8, (P ISP 8, ISP GRT ach 33T 1T & [Question ID = 12522]

1. Foucault / W [Option ID = 20086]
2. Marx / AT& [Option ID = 20085]

3. Sartre / 9T [Option ID = 20088]

4. Bacon / S [Option ID = 20087]

Correct Answer :-
« Marx / 9T [Option ID = 20085]

6) Who argued that philosophy should be edifying rather than constructive, representative and systematic?

fore a faar fop o=fa &) veATare, ufafafr eiv soafRua & g g H3AT a1fge? [Question ID = 12511]

1. Richard Rorty / s 37T [Option ID = 20042]
2. Kant / Sid [Option ID = 20041]

3. Husserl / §9¢ [Option ID = 20043]

4. Frege / Pl [Option ID = 20044]

Correct Answer :-
« Kant / &Id [Option ID = 20041]

7) In Plato’s dialogue Parmenides, Zeno argues that

e F Farg AT H, 9 w1 ad 8 fF
[Question ID = 12486]

1. Objects are both like and unlike each other / aﬁ\%ﬁ Th 'g'ﬁ% P AT 3R faudia gt % [Option ID = 19944]
2. the theory of Forms is absurd / BiH o Rgid aﬂﬁ 2 [Option ID = 19941]

3. the theory of Forms is not absurd / wiH BT Rigia éﬂﬁ TE [Option ID = 19942]

4. Parmenides’ theory is wrong / tFﬁ'HI%E?I o1 gl Tad 8 [Option ID = 19943]

Correct Answer :-
« the theory of Forms is absurd / HTH T Rigid ST & [Option ID = 19941]

8) Aphorism Yogash Citta-Vrtti-Nirodhah belongs to which chapter of Yoga Sutra:
I ey fera-gifa-favtey: 7o uig | WafRa §: [Question ID = 12495]

1. Vibhuti Pada / fayfd-urg [Option ID = 19977]

2. Samadhi Pada / GHIfY-UTG [Option ID = 19978]
3. Sadhana Pada / |14I-Ulq [Option ID = 19979]
4. Kaivalya Pada / 3ded-UTe; [Option ID = 19980]
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Correct Answer :-
« Vibhuti Pada / fdfd-arg [Option ID = 19977]

9) Those who hold that there are moral facts, and in the light of these moral facts people’s moral judgements can be true or false are:

S &N A @ b Afae @ €, o 59 % vt # @i & Afae fiofg 9 iR erd 81 ¥d €, 98: [Question ID = 12518]

1. Moral relativists / Sfae Tmde@Te € [Option ID = 20072]

2. Moral realists and relativists / e Turefaret oik wemard) § [Option ID = 20071]
3. Error theorists / 3fe fIgid®R & [Option ID = 20069]

4. Moral realists / e guTefard) € [Option ID = 20070]

Correct Answer :-
« Error theorists / 3¢ RIGIa®R § [Option ID = 20069]

10) In Carvaka philosophy, Moksha is associated with —

a1afe & g P ---& ST 7491 &1 [Question ID = 12485]

1. Artha / 31 [Option ID = 19940]

2. Dharma /& [Option ID = 19937]
3. Kama / &TH [Option ID = 19938]
4. Death / Hg [Option ID = 19939]

Correct Answer :-
« Dharma /4¥ [Option ID = 19937]

11) Space according to Kant refers to

Fid & AR 3iafver TeRfa war &: [Question ID = 12509]

1. a relation between objects / IXG3Hf & & T FaY [Option ID = 20034]

2. a self subsistent reality / T 3R IrafdssaT [Option ID = 20033]

3. a subjective condition of sensibility / Jaeiicd @ T Afdqura RURY [Option ID = 20036]
4. an empirical concept / T fTHISI HTYRUIT [Option ID = 20035]

Correct Answer :-
« a self subsistent reality / T 3R ardfderar [Option ID = 20033]

12) Friedrich Nietzsche viewed ‘Master morality’ as

e el 7 AR Afdwdr HY {9 = A T@T: [Question ID = 12508]

1. None of the above / SIRIad | ¥ &8 gl [Option ID = 20032]

2. Christian morality / $8T$ AfdeT [Option ID = 20031]

3. Life denying morality / el @1 TR a7 Sitg= [Option ID = 20030]
4. An affirmation of life / Sf@= &1 UfARH [Option ID = 20029]

Correct Answer :-
« An affirmation of life / SitaT @1 WA [Option ID = 20029]

13) The actuality for Aristotle is prior to potentiality in the following manner

IR F AR RATIPT HAAT aild F &MFaT ¥ Ugd 8 [Question ID = 12516]
1. All of the above / IURIa it [Option ID = 20064]
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2. In substance / garef o [Option ID = 20063]
3. Intime / g o [Option ID = 20062]
4. In account / faaxmr o [Option ID = 20061]

Correct Answer :-
« In account / fdaRuT & [Option ID = 20061]

14) The rational capacities for Aristotle are those that bring about

IR F forg adhwiTa erar @ § <t i@ uikoma @1d & [Question ID = 12496]

1. All of the above / IR oft [Option ID = 19984]

2. Two-way consequences / al- fa=m ufvom [Option ID = 19983]
3. No consequences / &g RO &l [Option ID = 19981]

4. One-way consequences / Udh- fe=m afvomm [Option ID = 19982]

Correct Answer :-
« No consequences / ®13 TRUITH =T8T [Option ID = 19981]

15) The Form of the Good for Plato is:
el & Y "B 3iT% Ts": [Question ID = 12510]

1. the ultimate object of knowledge / STIAfGEH P HILH Y THT S Yobal & [Option ID = 20038]
2. to be approached through Dialectic / ST T Tt BT Hi6- & [Option ID = 20037]

3. hard to obtain knowledge of / FT9 @7 3ifqH a%g & [Option ID = 20039]

4. all of the above / IR it [Option ID = 20040]

Correct Answer :-
« to be approached through Dialectic / WWWWW% [Option ID = 20037]

16) The author of 4 System of Logicis
T ReH 3T ATorP” & A@® &: [Question ID = 12494]

1. Gottlob Frege / Ticaid T [Option ID = 19974]

2. Bertrand Russell / ¢S I8 [Option ID = 19973]

3. John Stuart Mill / ST g3 fi1d [Option ID = 19975]

4. Alfred North Whitehead / 3/@hg 1 ®TgeaE [Option ID = 19976]

Correct Answer :-
« Bertrand Russell / §¢€ ¥ [Option ID = 19973]

17) A‘maxim’in Kant’s philosophy is

Pic & o= # ‘AfFTH’ [Question ID = 12498]

1. An example of an imperfect duty / U Zﬁc‘[ﬂf PicT % [Option ID = 19991]

2. An example of a relative duty / T derTTdHP P %‘ [Option ID = 19992]

3. An action guiding principle / T iod o1 <=1 aTall R¥eid & [Option ID = 19989]
4. An example of a perfect duty / T FfeRfed Hied & [Option ID = 19990]

Correct Answer :-

« An action guiding principle / Wib_rf?ﬂ oI T T g @ [Option ID = 19989]
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18) 'Hinduism is inimical to equality, antagonistic to liberty and opposed to fraternity’is stated by:

T5 [ #eT & fog e« vaar &7 391l w@daar &1 glavielt siv Fge & [@9dia 82 [Question ID = 12512]

1. M. K. Gandhi / TH. 3. Tiielt [Option ID = 20045]

2. M. N. Roy / A, . 374 [Option ID = 20048]

3. B. R. Ambedkar / &I, 3R, 3{[§§® [Option ID = 20047]
4. E. V. R. Periyar / 3. 9. 3/R. UR4R [Option ID = 20046]

Correct Answer :-
« M. K. Gandhi / TH. 3. Tifeft [Option ID = 20045]

19) — (X oY) is equivalent to which of the following?
- (X o Y) fFufifaa # @ 9% 9S4 &: [Question ID = 12487]

1.Y o X [Option ID = 19945]
2.Y & - X [Option ID = 19948]
3. X & - Y [Option ID = 19947]
4. X v Y [Option ID = 19946]

Correct Answer :-
e Y 5 X [Option ID = 19945]

20) Truths of fact according to Leibniz are:
ARIT & AR T P T : [Question ID = 12482]

1. Necessary truths / 3if4ard I& § [Option ID = 19925]

2. None of the above / SWRIad § ¥ ®I3 7Te] [Option ID = 19928]

3. Truths whose opposite is possible / 91 9 g oFe faudiq 9va [Option ID = 19926]
4. Not contingent truths / 3ifRf¥d T 7€l & [Option ID = 19927]

Correct Answer :-
* Necessary truths / e g % [Option ID = 19925]

21) If Xis true, Y is false and Z is true, then which of the following is false?

e X A 2, Y 39 & 3R z v B, ) Frafifa & @ 919 91 39 & [Question ID = 12477]

1. (X2 Y) = Z [Option ID = 19906]
2. (X>Y) > Z[Option ID = 19905]
3. (XVvY)vZ[Option ID = 19907]

4. (XvY)&Z [Option ID = 19908]

Correct Answer :-
e (X>Y) > Z[Option ID = 19905]

22) The equivalent formula of (x)Gx is which of the following:

(x)Gx BT ged G frafef@d # @ @ [Question ID = 12497]

1. =( 3x) — (Gx) [Option ID = 19988]
2. (3 x) — (Gx) [Option ID = 19987]
3. =(x) — Gx [Option ID = 19986]

4. (x) - Gx [Option ID = 19985]

192.168.183.10:8195/GameChanger/Reports/PapersetQuestion/PapersetQuestions

512



7/7/2019 192.168.183.10:8195/GameChanger/Reports/PapersetQuestion/PapersetQuestions

Correct Answer :-
e (x) — Gx [Option ID = 19985]

23) Frege took arithmetical truths to be
ST Wy ! fAufefad # § w1 aHa 2 [Question ID = 12500]

1. Analytic / faevoTers I [Option ID = 19997]

2. Synthetic a priori / Ridfew Tt I [Option ID = 20000]
3. A posteriori / 3=IHId % YYTT I [Option ID = 19999]

4. Synthetic / Ridfe® T [Option ID = 19998]

Correct Answer :-
« Analytic / fORYUTHS T [Option ID = 19997]

24) The essence of a thing for Aristotle in his Metaphysics is

qeauHT Uy W 3R P e fFq it et &1 9R FAuff@a § [Question ID = 12478]

1. What a thing is because it is a compound of things / WWW/%% [Option ID = 19910]

2. What a thing is because God desires it that way / 1T HTTaH 38 39 o I AT6d & [Option ID = 19911]
3. What a thing is in the world of pure forms / & =i B 'g‘ﬁtﬂ A [Option ID = 19912]

4, What a thing is in its own right / 18 i1 St 370 310 | 8 [Option ID = 19909]

Correct Answer :-
« What a thing is in its own right / ﬁé e o 3T MU H [Option ID = 19909]

25) ‘sad-darsana’includes:

‘ygeR ® JUARE §: [Question ID = 12505]

1. All of the above / SWRIad # ¥ ¥t [Option ID = 20020]

2. Sarkhya, Yoga, Nydya, Vaisesika, Mimarmsa, Vedanta | Red, 1T, <, Aes, AT, IgT [Option ID = 20017]

3. Carvaka, Yoga, Jainism, Mimarmsa, Samkhya, Buddhism / TTdids, T, SeH, HARET, T2, Sig ¥+ [Option ID = 20019]
4. Buddhism, Jainism, Nyaya, Carvaka, Vedanta, Yoga | e ﬂﬁ,@?ﬂﬁ, ?IITJ,EI'IHW, e [Option ID = 20018]

Correct Answer :-
« Samkhya, Yoga, Nydya, Vaisesika, Mimarmss, Vedanta | ST, T, =014, 3Rif¥ies, M, 3e1 [Option ID = 20017]

26) “We must accept probabilities rather than absolute facts, for ethics is not like geometry or physics.” To who is this statement attributed?

g AU T B Tog HHTETS $1 PR AT Aiey, Fifr Hife e safafa ar Wifasfasm &Y @)e 76 81" 98 U e 82 [Question ID = 12479]

1. Bentham / S99 [Option ID = 19915]
2. Mill / {1 [Option ID = 19914]

3. Kant / @ic [Option ID = 19913]

4. Aristotle / 3RR¥] [Option ID = 19916]

Correct Answer :-
« Kant / @ic [Option ID = 19913]

27) “Each nation has its own centre of happiness within itself, just as every sphere has its centre of gravity.” To who is this statement attributed?

“TAF 8 F AP & Hg B ARG, TP AP F R € ITF & BT 5 §4T1 317 T§ $U fBAHT 22 [Question ID = 12521]
1. Herder / 8% [Option ID = 20082]
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2. Mill / f& [Option ID = 20083]
3. Kant / ®ic [Option ID = 20081]
4. Locke / Qi [Option ID = 20084]

Correct Answer :-
- Kant / @ic [Option ID = 20081]

28) Deconstruction as a technique for uncovering the multiple interpretation of texts is developed by

7Y P Ig TS B IANR TR & (T T a1 & FU # fqgvs- (Sdear) fhad grRT [aw e {591 11 8 [Question ID = 12480]

1. Jaspers / S [Option ID = 19920]
2. Sartre / I [Option ID = 19919]
3. Derrida / SRST [Option ID = 19918]
4. Hegel / &1 [Option ID = 19917]

Correct Answer :-
« Hegel / 81 [Option ID = 19917]

29) "X & Y”"and "X v Y” are
"X & Y” 3R "X v Y” §: [Question ID = 12519]

1. Consistent with each other / T% gaX & ATY T [Option ID = 20073]

2. Inconsistent with each other / T& GER & T S{FTA [Option ID = 20074]

3. Contradictory with each other / T GERX & 1Y faRIeTHRA [Option ID = 20075]
4. Equivalent to each other / T @% & HHJH [Option ID = 20076]

Correct Answer :-
« Consistent with each other / & ¥R & ITY T [Option ID = 20073]

30) For Heidegger, the study of human being as Dasein is -

BRI ¥ g, 3fRTa (Dasein) ¥ ¥4 H AT PT 0T &
[Question ID = 12501]

1. hypothetical inquiry / Ted(=d SIid [Option ID = 20004]
2. nomological inquiry / Aifed S [Option ID = 20003]

3. ontic inquiry / 37ife® Wi [Option ID = 20002]

4. ontological inquiry / Jferarored sia [Option ID = 20001]

Correct Answer :-
« ontological inquiry / i@ d SiTd [Option ID = 20001]

31) Hilary Putnam'’s view regarding meaning is that

A9 ge=w 71 o1 & IR H TRHIU § [Question ID = 12523]

1. None of the above / SIRIad | ¥ &8 gl [Option ID = 20092]

2. It is not in the head / 78 R & =T&Y § [Option ID = 20089]

3. It does not involve role of experts / 3o¥ favws ot H‘ﬁw RIIE :l'ﬁ'ﬁ% [Option ID = 20090]
4. It is an idea in the head / q’@’ﬁﬁ | Qib'ﬁ?m % [Option ID = 20091]

Correct Answer :-
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« Itis not in the head / T8 R & &1 & [Option ID = 20089]

32) The following constraint, for all wl, w2, if wiRw2, then w2Rwlis ___ .

aft wi, w2 ¥ g, afd wiRw2 2, 3R w2Rw1 &, a8 ___ 3avie/=1d & [Question ID = 12507]

1. Reflexivity / Ufafaadr [Option ID = 20025]
2. Transitivity / SehTTHdT [Option ID = 20027]
3. Symmetry / FHUAT [Option ID = 20026]
4. Extendability / faReT [Option ID = 20028]

Correct Answer :-
« Reflexivity / Ufafsiar [Option ID = 20025]

33) Which of the following statements is incorrect with reference to Mill’s view on sanctions:

yfags W e & R & e # Fufifla & 19 91 79 T 8: [Question ID = 12488]

1. Education teaches us the right feelings for humanity. / e &8 Aadr ¥ fo Tt HiaT Riawdt 81 [Option ID = 19951]

2. The motive for observance of sanctions is attached to utilitarian morality as powerfully as it is in any other morality. / yfaqae o7 UTe B BT G%Qtl 3 Afdedr 3t We ST Afdear ¥ ot I ol @ ST gl %’
[Option ID = 19950]

3. External sanctions are more effective as they work both through peer pressure and divine reprimand. / a8 Ufdsier 3ifeies THTet 81 & i 3 G Al qaTa 3R Gdid WedR & S | P BRd & [Option ID = 19952]

4, Moral feelings are not innate but acquired. / e HIGT ST =181 Sfewp 3ifSTd  [Option ID = 19949]

Correct Answer :-
« Moral feelings are not innate but acquired. / fde HTGTY ST =T8T Sfep 3IfSfd & [Option ID = 19949]

34) Which of the schools of Indian Philosophy are considered as a part of anvikshiki (philosophy) by Kautilya?
Pifeed A HRAIT a=[ F 5 T@al B HF7/2/@7H1 U HBT2 [Question ID = 12493]

1. Nyaya, Viseshika,Vedanta, samkhya / =T, 3=t d<id, a7 [Option ID = 19972]
2. Samkhya, Vedanta and Mimamsa / 9Rel, 3gid, AT [Option ID = 19971]

3. Lokayata, Ajivikas and Buddhism / @ieTard, 3fTofiaes, alg G2 [Option ID = 19970]
4, Samkhya, Yoga and Lokayata / HiH, tﬁTl, dAprad [Option ID = 19969]

Correct Answer :-
« Samkhya, Yoga and Lokayata / \iR&d, T, WIHIAd [Option ID = 19969]

35) The modal system KpoT is known as:
HISH WUt Kpor ___ 8T SIal 81 [Question ID = 12520]

1. S2 [Option ID = 20077]
2. S3 [Option ID = 20078]
3. S5 [Option ID = 20080]
4. S4 [Option ID = 20079]

Correct Answer :-
» S2 [Option ID = 20077]

36) According to Deleuze and Guattari philosophy is all about:

W (Deleuze) 3R T3AaY (Guattari) ¥ IR =7 T Hdaq & [Question ID = 12490]

1. Creating concepts / 3[dYRU VQ ST [Option ID = 19960]
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2. Communication / TdT [Option ID = 19959]
3. Reflection / AT [Option ID = 19957]
4. Contemplation / IEGE] [Option ID = 19958]

Correct Answer :-
« Reflection / FrEFT [Option ID = 19957]

37) According to Quine, the two dogmas of empiricism are

P19 F 3UR, AJHIAIE & of FISId & [Question ID = 12524]

1. impressions and ideas / UHTd (@QFI) 3R 3fayrRom (ﬁiﬂ?) [Option ID = 20093]

2. analytic synthetic distinction and reductionism / BT -Taft® (Ridfed) We 3R =gAdmarg [Option ID = 20094]
3. functionalism and analysis / foparfierar 3R fawdwo [Option ID = 20096]

4. reductionism and functionalism / =IdTdlq 3R foparaiierar [Option ID = 20095]

Correct Answer :-
« impressions and ideas / THTT (3U=M) 3R 3f@URUN (fFAR) [Option ID = 20093]

38) According to Hume, Ideas
33111% Gﬂﬂﬂﬁiﬂ: [Question ID = 12489]

1. Are faint and bland images of the impression in thinking and reasoning. / R 3R a% | Tepur Bt gﬂ?ﬁ 3R O sfagt %I [Option ID = 19956]

2. Are perceptions that affect the mind with the most force and violence / @1 &IRUTE S T 1 T 31fih I 3R &A1 T Hfad HAt § [Option ID = 19954]
3. Are known for their vividness, clarity and distinctness / &1 3-Td! fa=redr, TudT 3R fafkivar & forg ST S € [Option ID = 19953]

4. Include sensations, passions and emotions / | ?ﬁﬂ‘rﬁﬁ, NG IR YTaTY A gt 7 [Option ID = 19955]

Correct Answer :-
« Are known for their vividness, clarity and distinctness / 1 3Ta! fa=redT, Tyar 3R fafwar & o ST wiraT & [Option ID = 19953]

39) According to the 7ractatus pictorial relationship is
ApdTed (Tractatus) & IJHR AT T (pictorial relation) § [Question ID = 12491]

1. The possibility of connection among the elements of a picture / T o & 3/@gel & oid Y'Y &I YUTGT [Option ID = 19964]

2. The relation between the respective standpoints of the picture and reality / 1 3R Irafaedr & Tafia eRHIU & o day [Option ID = 19961]
3. The correlations of the elements of a picture with objects / aﬁaﬁ P Y TP o & el BT Gggey [Option ID = 19962]

4. The connection among the elements of a picture / T 3 & sagel & o gy [Option ID = 19963]

Correct Answer :-
« The relation between the respective standpoints of the picture and reality / 2 3R aRafdear & Geifiid =i & 9 G&¢ [Option ID = 19961]

40) According to Eliminative Materialism Folk Psychology can be reduced to

Wifawpare & AR T AAawH & Fufeied § ¥ fPaH gear oI 9dr € [Question ID = 12513]

1. Completed neuroscience / E[\Uf?lﬁﬁﬁiﬂq [Option ID = 20050]

2. None of the above / IR H ﬁ'st Bl [Option ID = 20052]

3. Propositions about completed neuroscience / U dfeT fag & aR § URdTE [Option ID = 20049]
4. Propositions about incomplete neuroscience / 3qui T fag & IR § U@ [Option ID = 20051]

Correct Answer :-
« Propositions about completed neuroscience / guf df3eT fag & IR § URATG [Option ID = 20049]
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41) According to Identity theory a brain state and a mental state are

F IR, AT 3@t 3R AR AR 8@t § [Question ID = 12499]

1. Necessarily identical with each other / T& GER & W1 Ff8d =0 ¥ §HM [Option ID = 19993]

2. Probably identical with each other / G4ad: WW & Y A [Option ID = 19994]

3. Contingently identical with each other / B HD 0 WW%WUW [Option ID = 19995]
4. Improbably identical with each other / T W & 1y fordlt ates & guH [Option ID = 19996]

Correct Answer :-
« Necessarily identical with each other / T& GER & W1 3 &0 & U [Option ID = 19993]

42) According to Russell, ‘The man in the green shirt’ is an example of

A P ATAR ‘98 TR oY g3 S YT ' [Question ID = 12476]

1. A definite description / Td Ay o= § [Option ID = 19904]

2. An indefinite description / T JfAfyg guia % [Option ID = 19901]
3. A positive description / Th HHRIHD qufq % [Option ID = 19903]
4, A vague description / U@ 3Ry Ui § [Option ID = 19902]

Correct Answer :-
« An indefinite description / T 3ifAf3d Ui  [Option ID = 19901]

43) According to Philosophical Investigations ostensive definitions can be disambiguated
339UT (Philosophical Investigations) %Y % 3R UER(® AT (ostensive definition) Y RT3 Y [Question ID = 12517]

1. only through their usage / $ad I7 IUANT ¥ & §STT ST [hall 3| [Option ID = 20067]

2. only by further ostensions / Fad $ffafad TeRFt ¥ §TT S ¥ 3| [Option ID = 20065]

3. only by verbal explanations / FId YMfed PIHIU GRT &t T S Gahell %‘l [Option ID = 20066]

4. only with reference to a private image / Fad T ol ufaeg § & geran o gobdr %l [Option ID = 20068]

Correct Answer :-
« only by further ostensions / %da 3ffaed UG I gerT ST b §| [Option ID = 20065]

44) According to Philosophical Investigations
RIS srawor (Philosophical Investigations) U4 ¥ 3[R [Question ID = 12506]

1. Every word has a fixed number of alternative meanings / g Rlsq ¥ Jofus ardf ot uw fAfda e gt @ [Option ID = 20021]

2. Each word is incomplete and indeterminate in its meaning / U e B 3 &rl?I;Uf 3R Gfﬁf\%ﬁ% [Option ID = 20023]

3. Each word has an indefinite number of alternative meanings / TP Toc H Jopfcte of o 3ifRfdd T Brt %‘ [Option ID = 20022]
4. Each word signifies only a particular / TP Ve had [yl [IRY Pl g=ifer 8 [Option ID = 20024]

Correct Answer :-
« Every word has a fixed number of alternative meanings / 83 Usq & ddbiete 3df BT T Fifid T gidt & [Option ID = 20021]

45) According to Leibniz the relation between mind and body occurs through

Rrafes & AR 949 3R IR &F &9 BT W& T § [Question ID = 12502]

1. a relation of identity / ST [Option ID = 20007]

2. parallelism / SHFIGRAT ¥ [Option ID = 20006]

3. causal interaction / PRUT 3R B & s TR 331 ¥ [Option ID = 20005]

4. concord between efficient causes and final causes / $IA HRUN 3R ifaw HRUT F = TgAfT I [Option ID = 20008]
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Correct Answer :-
« causal interaction / PRUT 3R B & oI TRER a1 ¥ [Option ID = 20005]

46) According to Tagore, our real problem in India is:

TR & IFIR, YRd ¥ gURY IS THWT 8: [Question ID = 12514]

1. Spiritual / anefars [Option ID = 20056]
2. Political / RCEIRED [Option ID = 20053]
3. Social / |TAIRS® [Option ID = 20055]

4. Economical / anffe [Option ID = 20054]

Correct Answer :-
« Political / TS [Option ID = 20053]

47) For Heidegger, death-anxiety can lead to -

BIESR ¥ ferg, gog-ferem % BIRUI 8 §Pd @ - [Question ID = 12492]

1. nausea / 9H [Option ID = 19967]

2. stress / d-1d [Option ID = 19968]

3. inauthenticity / S{SHTREGdT [Option ID = 19966]

4. transcendence from average everydayness / 3 AT ¥ URITHA [Option ID = 19965]

Correct Answer :-
« transcendence from average everydayness / 3 Aol § TR [Option ID = 19965]

48) For Heidegger, the human being is
FTSSTR & 1Y, $UT 8 [Question ID = 12483]

1. an individual consciousness / Td SfaTd =T [Option ID = 19929]

2. being-with-others / G¥RI & WIY §1H & ATd [Option ID = 19930]

3. not influenced by past experiences / IEEL eawa‘f Y gy ¥ [Option ID = 19931]

4. not influenced by future projections / ufew & aanﬁf@rmrrﬁa T8l [Option ID = 19932]

Correct Answer :-
« an individual consciousness / T& SfaadiTd daHT [Option ID = 19929]

49) Saul Kripke takes truths like Morning Star = Evening Star to be

W fpud AT ©R = gﬂﬁ'ﬂw" aﬁmaﬁ-wm%
[Question ID = 12484]

1. A priori truths / fom 3gHg P YR W [Option ID = 19934]

2. Contingent a priori truths / fomm 3JHd F 3R AT F 3MUR R [Option ID = 19935]

3. Necessary a posteriori truths / 3FHT & THTd IfAaR T T = TR [Option ID = 19936]
4. True by virtue of meaning / 3 F YR R [Option ID = 19933]

Correct Answer :-
« True by virtue of meaning / 314 & 3MTYR W [Option ID = 19933]
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By Rtain Indian philosophy is meant
YR =i & %d 82 [Question ID = 12475]

1. Neither Cosmic Order nor Moral Order / G & ¥ &g Fg! [Option ID = 19900]

2. Cosmic Order and Moral Order / G fa% saa®T, Afde saa=IT [Option ID = 19899]
3. Cosmic Order / fa% STaRIT [Option ID = 19897]

4. Moral Order / Jfd® Sa=T [Option ID = 19898]

Correct Answer :-

« Cosmic Order / fd% STaRIT [Option ID = 19897]
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